Name:

May 26, 2023

Sr: 26052023-3130
11-PLUS

MATHSWORKSHEET%‘ SATS @

ERATOR

GCSES

1) V 2 92- 60 3) 500 + 100
a o c
Measure angle boa
Answer: Answer: Answer:
4) 64 -55 5) 85+ 30 6) Find perimeter of
sguare having each side
s (s) equals 48 ft
s
Answer: Answer: Answer:
7) 1+68 8) 9) Increase296 by ¥, ,q
Find VVolume of
Cylinder
Answer: Answer: Answer:

10)  Increase 296 by 3/, g

11)  Increase 156 by 5/,

12) 'What isthe probability of rolling a
number less than 4.when rolling a

dice
Answer: Answer: Answer:
13) 'What isthe probability of rolling a 14) Find area of square 15) 1%g x 18/
number less than 4.when rolling a having each side (s)
dice s equals 60 ft
s
Answer: Answer: Answer:
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16) 9x 100 17) 52.3 +66.2 18) 187, x 8,
Answer: Answer: Answer:
19) 100 - 83 20) 96 - 80 21) Find area of triangle
a p h=53m,a=78m,
b=93m,c=99m
c
Answer: Answer: Answer:

22) Round 30.50731781 to the nearest 23) 5 Y.-6 3 24) 18/ + 1575

100
Answer: Answer: Answer:

25 ) 26) (-38) + (-19) 27)  Anamount was decreased by 6% to
Find the next three numbersin $305.00. Find the original amount.
the sequence
0112358 , ,

Answer: Answer: Answer:

28) g - 1314 29) Convert thefollowing fractionintoa || 30) 17x91

mixed number: 11/,
Answer: Answer: Answer:
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May 26,2023 GENERATOR L2 GCSES \Z
31) 59% of 23 32) Find the mean of the following set of data: 33)
0.3, 14, 0.6 Find the next three numbersin
the sequence
32,34,136,138,552,554,2216  , ,
Answer: Answer: Answer:

34) A number is chosen at random from

1 to 25. Find the probability of
selecting multiples of 6 and 6.

Answer:

35) Simplify 1:3

Answer:

36) 22.11x7

Answer:

37) Find perimeter of 38) 37-(-90) 39) (-15) - (-48)
b rectangle having
sidesa=86 ft
a and b =77 ft
Answer: Answer: Answer:
40) A number was shared in the ratio 41) dg+20, 42) W+
10:18. The smaller share was 30.
What was the total amount shared?
Answer: Answer: Answer:
43) 3.6x4 44) 3/5 + 14/3 45) 16/12 -1,
Answer: Answer: Answer:
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46)  Anamount was decreased by 4.5% to 47)  Anamount was decreased by 4.5% to 48) Anamount was decreased by 4.5% to
$381.00. Find the original amount. $381.00. Find the origina amount. $381.00. Find the original amount.
Answer: Answer: Answer:
49) 50) B2+ 4%,
Find Volume of
Cylinder
Answer: Answer:
Total: /50
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1) 160 2) 32

8) 1235.4313110242 9) 302
15) 2194, 16) 900
22) 30.51 23) 22/
29) 1%, 30) 1547
36) 37) 326ft
43) 14.4 44) 5%,
50) SYgg

35

10) 302

17) 1185
19,

24) 519,

31) 13.57

38) 127
4

45) 4,
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MATHS WORKSHEET

49
11) 166

18) 48

25) 13,21,34,
32) 4.97

39) 33

46) $363.85

Answers:

5) 115
12) Y,

19) 17

26) -57

33) 2218,8872,8874,
40) 84

47) $363.85

MERATOR

6) 192ft
13) Y,

20) 16

27) $286.70
34) 85

41) ¥

48) $363.85

Sr: 26052023-3130
11-PLUS

ES 8 SATS ;
& B

7) 69
14) 3600ft
21) 2464.5m

5
28) %,
35)1:3

7,

42) 175
49) 6283.1853071796
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